MIAMI-DADE COUNTY, FLORIDA
MIAMI-DADE METRO-DADE FLAGLER BUILDING
COUNTY

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov

Eastern Metal Supply, Inc.

4268 Westroads Dr.

West Palm Beach, Florida 33407

Scork:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: 0.030” Galvanized Steel Storm Panels Shutter

APPROVAL DOCUMENT:; Drawing No. 09-013, titled “ 0.030” Thick Galvanized Bertha Steel Storm Panel”,
sheets 1 through 9 of 9, and 1A of 9, prepared by Tilteco, Inc., dated 02/04/2009, last revision #1 dated 02/04/2009
signed and sealed by Walter A. Tillit Jr., P.E. on 02/18/2009, bearing Miami-Dade County Product Control revision
stamp with the Notice of Acceptance number and expiration date by Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each panel shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises & renews NOA # 05-0926.02 and consists of this page 1, evidence submitted pages E-1, E-2
and E-3 as well as approval document mentioned above.

The submitted documentation was reviewed by Helmy A. Makar, P.E., M.S.

// /7 M\/ NOA No. 09-0330.04
"'A"'NTY : Expiration Date: 06/07/2014
Approval Date: 07/22/2009

071 /Z.’L/Zoo? Page 1



Eastern Metal Supply, Inc.

N

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #00-0919.10
DRAWINGS
1. Drawing No. 00-252, titled “24 Gage Galvanized Bertha Steel Storm Panels
prepared by Tilteco, Inc., dated July 10, 2000, last revision #1 dated April 3, 2001,
sheets I through 9 of 9, signed and sealed by Walter A. Tillit Jr., P.E.

TESTS

1. Test report on Large Missile Impact Test, Cyclic Wind Pressure Test and Uniform
Static Air Pressure Test of Galvanized Steel Storm Panels, prepared by American
Test Lab of South Florida, Report No. ATL 0425.01-00, dated August 22, 2000,
signed and sealed by Henry Hattem, P.E. and William R. Mehner, P.E.

CALCULATIONS
1. Storm panel shutter Calculations, sheets 1 through 78 by Tilteco, Inc., signed and
sealed by Walter A. Tillit Jr., P.E., dated 09/11/2000.

MATERIAL CERTIFICATIONS

I Mill Certified Inspection Report, dated 05/97, for Hot Dipped Galvanized coating G-
60 Steel, ASTM 4653 Grade 40 (ASTM 446GR-C) by Robert O'Neil of R & R Metals,
Inc., with chemical composition and physical properties.

2. Tensile Test Reports from Hurricane Engineering & Testing Inc., Job No. HETI-97-
148 dated July 17, 1997 for 20 ga. Galvanized Steel, tested per ASTM E8-93, signed
and sealed by Hector M. Medina, P.E.

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #02-0809.04

DRAWINGS

1. Drawing No. 02-446, titled ““ 24 gage Galvanized Bertha Steel Storm Panel
sheets 1 through 9 of 9, prepared by Tilteco, Inc., dated September 05, 2002,
signed and sealed by Walter A. Tillit Jr., P.E.

TESTS
1. None.,

CALCULATIONS
1. None.

MATERIAL CERTIFICATIONS
1. None.

Y b At~

(Helmy A. Makar, P.E., M.S.
Senior Product Control Examiner
NOA No. 09-0330.04

Expiration Date: 06/07/2014
Approval Date: 07/22/2009



Eastern Metal Supply, Inc.
NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL # 04-0517.01

DRAWINGS

1. Drawing No. 02-446, titled “ 24 gage Galvanized Bertha Steel Storm Panel ”,
sheets 1 through 9 of 9, prepared by Tilteco, Inc., dated September 05, 2002,
signed and sealed by Walter A. Tillit Jr., P.E,

> @

B. TESTS
1. None.

C. CALCULATIONS
1. None.

D. QUALITY ASSURANCE
1. By Miami-Dade County Building Code Compliance Office.

E. MATERIAL CERTIFICATIONS
1. None.

e

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL # 05-0926.02

A. DRAWINGS

1. Drawing No. 05-073, titled “ 0.030" Thick Galvanized Bertha Steel Storm
Panel”, sheets 1 through 9 of 9, and 14 of 9, prepared by Tilteco, Inc., dated
04/25/2005, last revision #1 dated 04/25/2005 signed and sealed by Walter A.
Tillit Jr., P.E. on 09/15/2005

B. TESTS
1. Test report on Large Missile Impact Test and Cyclic Wind Pressure Test of
Galvanized Steel Storm Panels, prepared by American Test Lab of South Florida,
Report No. ATLSF 0616.01-05, dated September 15, 2003, signed and sealed by
William R. Mehner, P.E.

C. CALCULATIONS
1. Storm panel shutter Calculations, sheets I through 91 by Tilteco, Inc., signed and
sealed by Walter A. Tillit Jr., P.E. on 09/13/2005.

D. QUALITY ASSURANCE
1. By Miami-Dade County Building Code Compliance Office.

E. MATERIAL CERTIFICATIONS
1. Tensile Test Report from QC Metallurgical, Inc., Job No. 51M-926, dated
September 20, 20035, tested per ASTM E8-93, signed and sealed by Frank Grate,

) He b AALLin

my A. Makar, P.E., M.S.

Senior Product Control Examiner
NOA No. 09-0330.04

Expiration Date: 06/07/2014
Approval Date: 07/22/2009



Eastern Metal Supply, Inc.
NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

NEW EVIDENCE SUBMITTED

DRAWINGS

1. Drawing No. 09-013, titled ““ 0.030” Thick Galvanized Bertha Steel Storm
Panel”, sheets 1 through 9 of 9, and 14 of 9, prepared by Tilteco, Inc., dated
02/04/2009, last revision #1 dated 02/04/2009 signed and sealed by Walter A.
Tillit Jr., P.E. on 02/18/2009.

> o

B. TESTS
1. None.

C. CALCULATIONS
1. Storm panel shutter Calculations, sheets 1 through 91 by Tilteco, Inc., signed and
sealed by Walter A. Tillit Jr., P.E. on 02/18/2009.

D. QUALITY ASSURANCE
1. By Miami-Dade County Building Code Compliance Office.

E. MATERIAL CERTIFICATIONS
1.  None.

W b At

Hélmy A. Makar, P.E., M.S.
Senior Product Control Examiner
NOA No. 09-0330.04

Expiration Date: 06/07/2014
Approval Date: 07/22/2009



GENERAL NOTES:
1. STORM PANEL SHOWN ON THIS PRODUCT APPROVAL DOCUMENT
WITH_ THE 2007 EDITION OF THE FLORIDA BUILDING CODE.

STORM PANEL MAY BE INSTALLED AT HIGH VELOCITY HURRICANE ZONES. DESIGN WIND LOADS SHALL BE DETERMINED AS PER
SECTION 1620 OF THE ABOVE MENTIONED CODE,

(P.AD.) HAS BEEN VERIFIED FOR COMPLIANCE IN ACCORDANCE

ACCORDANCE WITH SECTION 1626 OF
TAS-202 AND

STORM PANEL'S ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN
;:’g gggVE MENTIONED CODE AS PER ATL REPORTS # 2425.01-00 AND # 0616.01-05, AS PROTOCOLS TAS-201,

2. ALL STEEL SHEET METAL PANELS SHALL HAVE STRUCTURAL QUALITY ASTM A—653 SQ, GRADE 40, WITH G-90 GALVANIZED STEEL
DESIGNATION & Fy= 52.3 ksi. (AFTER ROLLED)

3. ALL ALUMINUM EXTRUSIONS SHALL BE ALUMINUM ASSOCIATION 6063-T6 ALLOY & TEMPER UNLESS OTHERWISE NOTED.

4. ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 AISI SERIES OR CORROSION RESISTANT COATED CARBON STEEL AS PER DIN
50018 W/ 50 ksi YIELD STRENGTH AND 90 ksi TENSILE STRENGTH.

5. BOLTS TO BE ASTM A-307 GALVANIZED STEEL, OR AlSI 304 SERIES STAINLESS STEEL, WITH 36 ksi MINIMUM YIELD STRENGTH.
6. ANCHORS TO WALL SHALL BE AS FOLLOWS:
(A) TO EXISTING POURED CONCRETE MINIMUM EDGE DISTANCE (E.D.), AS PER SHEETS 5 THRU 7:

= 1/4°0 TAPCONS & MAXI-SET TAPCONS ANCHORS AS MANUFACTURED BY I.T.W./BUILDEX, INC (Min. f'o=3192 psi)

= 17478 CRETE-FLEX SS4 ANCHORS AS MANUFACTURED By ELCO FASTENING SYSTEMS, LLC (Min. fc=3350 psi)

= 1/47 x 7/8” CALK=IN ANCHORS AS MANUFACTURED By POWER FASTENERS, INC. (Min. fe=3000 psi)

= 1/40 "PANELMATE FEMALE ID" OR 1/4"8 "PANELMATE PLUS” ANCHORS AS MANUFACTURED BY ELCO CONSTRUCTION
PRODUCTS (Min. f'e=3350 psi)

= 1/4'8 x 3/4" ALL POINTS SOLID-SET ANCHORS AS DISTRIBUTED BY ALL POINTS SCREW, BOLT & SPECIALTY CO.
(Min. f'e=3000 ps;)

NOTES:
A 7) MINIMUM EMBEDMENT INTO POURED CONCRETE OF
"PANELMATE FEMALE ID” AND "PANELMATE PLUS™

TAPCON ANCHOR OR CRETE-FLEX 554 IS 1.3/4", AND 2" FOR

A2) 7/8" CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO POURED CONCRETE. NO EMBEDMENT INTO STUCCO SHALL
BE PERMITTED. 1/4” g-20 SCREWS USED SHALL BE 1 1/2” LONG MINMUM SHOULD STUCCO EXIST, AND 1" MINIMUM
FOR WALLS wiTH" NO STUCCO.

A.3) MINIMUM EMBEDMENT OF 1/4°0 x 3/4" ALL POINTS SOLID-SET ANCHORS SHALL BE 7/8”
EMBEDMENT INTO STUCCO SHALL BE PERMITTED. 1/4” 8-20 S.S. MACHINE SCREW USED
MINIMUM SHOULD STucco EXIST, AND 17 MINIMUM FOR WALLS WITH NO STUCCO.

(B) TO EXISTING CONCRETE BLOCK ASTM C-90:

— 1/4"0 TAPCONS & MAX{—SET TAPCONS ANCHORS
- 1/4"0 CRETE~FLEX 554 /
- 1/4"¢ x 7/8" CALK—IN ANCHORS AS MANUFACTURED BY POWER FASTENERS, INC. (Min. f'm=1500 psi)
-~ 1/4" "PANELMATE FEMALE D" MANUFACTURED BY ELCO CONSTRUCTION
~ PRODUCTS (Min. f'm=2071 psj)
- 1/4"8 x 3/4” ALL POINTS SOLID—-SET ANCHORS AS DISTRIBUTED BY ALL POINTS SCREW, BOLT & SPECIALTY CO.
(Min. f'm=1800 psi)

NOTES:
8.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS, "PANELMATE FEMALE ID" ANCHORS, “PANELMATE PLUS" ANCHORS AND
CRETE~FLEX SS4 ANCHORS, INTO THE CONCRETE BLOCK UNIT SHALL BE 1 1/4"

8.2) 7/8" CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE CONCRETE BLOCK UNIT.
NO EMBEDMENT INTO STUCCO SHALL BE PERMITTED, 1/4” 8—-20 SCREWS USED SHALL BE 1 1/2" LONG MINIMUM

(C) TO EXISTING WOOD (MIN. SPECIFIC GRAVITY, G = 0.55 MIN.): MINIMUM EDGE DISTANCE (EXD.) AS PER SHEETS 8 AND 9.

— 1/4°0 "PANEMALTE PLUS” AND "PANELMATE FEMALE D" ANCHORS AS MANUFACTURED BY ELCO CONSTRUCTION PRODUCTS.
~ 1/4"0 LAG SCREWS PER N.D.S,

NOTES:
C.1) MINIMUM THREADED PENETRATION INTO WOOD OF *PANEMALTE PLUS™ ANCHORS AND female PANELMATES SHALL BE 1 7/8"

C.2) MINIMUM THREADED PENETRATION OF LAG SCREWS, INTO THE WOOD FRAME UNIT SHALL BE 1 1/2" NO THREADED
PENETRATION INTO STUCCO SHALL BE CONSIDERED AS PART OF THE REQUIRED THREADED PENETRATION (EXCEPT AS NOTED).

PANELS, STUCCO OR WOOD BANS BE FOUND ON THE EXISTING

C.3) IN CASE THAT PRECAST STONE, OR PRECAST CONCRETE
MAIN STRUCTURE BEHIND SUCH PANELS. ANCHORAGE SHALL BE

WALL, ANCHORS SHALL BE LONG ENOUGH TO REACH THE
AS MENTIONED IN C.1) AND C.2).

(D) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE ANCHOR'S
MANUFACTURER.

v

7. PANELS MAY BE ALSO INSTALLED HORIZONTALLY FOLLOWING INSTALLATION DETAILS SHOWN ON SECTIONS 1 THRU 8 (SHEETS 2 & 3
OF 9) AND SECTIONS A AND B (SHEETS 8 AND 9) EXCEPT THAT HEADERS @, @ & @ SHALL NOT BE USED.

8. AT LEAST ONE WARNING LABEL PER OPENING SHALL BE PLACED IN A CONSPICUOUS LOCATION ON ANY OF THE COMPONENTS OF
THE STORM PANELS SYSTEM ADVISING THE HOME OWNER OR TENANT THAT STORM PANELS WILL NOT OFFER HURRICANE PROTECTION
UNLESS ALL REINFORCING BOLTS ARE PROPERLY INSTALLED WHEN REQUIRED.

S. T SHALL BE THE RESPONSIBILITY OF THE. CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE SHUTTER IS TO BE
ATTACHED TO INSURE PROPER ANCHORAGE. THIS SHUTTER SHALL ONLY BE ATTACHED TO CONCRETE, BLOCK OR WOOD FRAME
BUILDINGS.

THE INSTALLATION CONTRACTOR IS TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN CONTINUOUS CONTACT WITH
THE BUILDING TO PREVENT WIND/RAIN INTRUSION.

11. STORM PANEL INSTALLATION SHALL COMPLY WITH SPECS INDICATED IN THIS DRAWING PLUS ANY BUILDING AND ZONING REGULATIONS
PROVIDED BY THE JURISDICTION WHERE PERMIT IS APPLIED TO.

10.

12. (a) THIS PRODUCT APPROVAL DOCUMENT (P.A.D.) PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE: INFORMATION
FOR A SITE SPECIFIC PROJECT; i.e. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.A.D,

(b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE SAFETY OF THIS PRODUCT
BASED ON THIS P.AD. PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED ON THIS DOCUMENT.
CONSTRUCTION SAFETY AT SITE IS THE CONTRACTOR'S RESPONSIBILITY. .

(c) THIS PRODUCT APPROVAL DOCUMENT WILL BE CONSIDERED INVALID IF MODIFIED.

(d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR ARCHITECT WHICH WILL BECOME THE
ENGINEER OF RECORD (E.O.R.) FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE PROPER USE OF THE P.A.D.
ENGINEER OF RECORD, ACTING AS A DELEGATED ENGINEER TO THE P.A.D. ENGINEER, SHALL SUBMIT TO THIS LATTER THE SITE
SPECIFIC DRAWINGS FOR REVIEW.

(e) THIS P.A.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL ENGINEER OF RECORD THAT

PREPARED 1T,

13. SHUTTER MANUFACTURER'S LABEL SHALL BE PLACED ON A READILY AND VISIBLE LOCATION AT PANEL. ONE

LABEL SHALL BE PLACED FOR EVERY OPENING. LABEL SHALL READ AS FoLLows:
EASTERN METAL SUPPLY, INC.

WEST PALM BEACH, FL.

MIAMI-DADE COUNTY PRODUCT CONTROL APPROVED.

MIAMI-DADE COUNTY

PRODUCT REVISED
iplying with the Fiorida

a5 ¢

F.B.C.(High Velocity Hurricane Zone)

SHOULD STUCCO EXIST, AND 1" MINIMUM FOR WALLS WITH NO STucco.

8.3) MINIMUM EMBEDMENT OF 1/4'8 x 3/4” ALL POINTS SOLID—-SET ANCHORS SHALL BE 7/8” INTO THE CONCRETE BLOCK
UNIT. NO EMBEDMENT INTO STUCCO SHALL BE PERMITTED. 1/4” 8-20 5.5. MACHINE SCREW USED SHALL BE 1 1/2*
LONG MINIMUM SHOULD STUCCO EXIST, AND 1”7 MINIMUM FOR WALLS WITH NO STUCCO.

0.030" THICK GALVANIZED BERTHA MC.V.
©2009 TILTECO, INC. .
STEEL STORM PANEL DRAWN 8Y:
| ASTERN METAL SUPPLY, INC. | "%
DATE
| ILIECO . EASTE, » INC.
4268 WESTROADS DR,
TILLIT TESTING & ENGINEERING COMPANY
3355 MW, 5500 St, Ste. 305, VIRGINA GARDENS, 1. 33165 WEST PALM BEACH, FL 33407 09-013
FEB 1 8 Zuug Phone : (305)871~1530 . Fox : (305)871— 1551 DRAWING N
WALTE/S.BA—O‘TJISE; 9 pE REV. NO DESCRIPTION DATE | REV. No DESCRIPTION DATE °
o 3 /T Jr. P.E. _ - -
P.E, $E4L/$/GNA1URE/DATE FLORIDA Lic. # 44167 z’ oLD 0_5 073 2/4{09 : _ - SHEET 1 oF ¢




15.119" (TOTAL WIDTH)

9.119" (TOTAL WIDTH)

12.000" (EFFECTIVE WIDTH)

6.000" (EFFECTIVE WIDTH
| XYY — | ( ) | 3" MAX. ANCHORS (SEE SCHEDULE ON SHEETS 5 THRU 7 3" MAX.
] - (9 or (0} 45 apPucABLE 1° MIN. AND_SHEETS 8 & 9) 17 MIN.
1.500 4475 1.500" 4.473" 1,500 1.500" 4.473" 1.500" s ° D o

< = | N Wl S ke et ieamha A a R

! A ] | !

[
030" THICK .030" THICK . A A A
GALVANIZED : GALVANIZED : > A A 1,
| r
‘a —”/,/
| S —1 )’ | _BOLTED PANELS W/

t 1] I 1/4°8-20 x 1/2”

1.500"
2.250”
1.500"

2.2507
EQ.

$ |
\

1
I
L_ﬂ_‘ T S. S. M S W/

7/8” X 3/32" WING

‘ _ NUTS ® OVERLAPS
PANEL HALF_PANEL o' Wivspin.

2.125" ) 3.875" f 2.125"

. s SCALE : 3/8" = 1* . SCALE : 3/8" = 1"
Q S-mmnh o
8 £.560 8 3.000" Mex. 2.560" A 4
o { A A Y
7.
/?/\,;, 2.560"
i Se 2 3
— \/ ] & .
b - 0
725"~ 54 v | gﬂg
HY Ci_ -p s e e i el | 1 717 7 T I 1T T
s 5 1 fr 1 ) % o] o) o o) o |
R 8 Y / N g .
N O .
~ :g. . ' E s 125" b Qé S 075" I/ & 3" MAX. __| ANCHORS (SEE SCHEDULE ON SHEETS 5 THRU 7 ]_J" MAX,
R S 075" /1%, & X 8 o J B 1" MIN. - AND SHEETS 8 & 9) — 1" MIN.
! * : S N ) P [N
N N S N )
e STORM PANEL TYPICAL ELEVATION
J o755 - | | - i T o
X "
2 2.340" K - 1/4" Max. GAP 1/4" Max, GAP
~ h——2.340" PN 2.681" ' F vf
@ : 2.681" N
@ b HeApER” @ 3~ "Y” _BUILD OUT @ U HEADER L
TR G S _Max. U~ BUILD OUT NPy _
/ SCALE : 3/8" = 1” SCALE : 3/8" = 1 SECTION A-—A
N. T. S
214" 063"
& 374" ___1 "
& ose
2 J o ™
9l & .188" .093
o S § — F‘ - r "H 1/4" ¢ 304 SERIES
-z " H 5. S, STUD RIVETED TO
S TLY YARIES 1.25_ Max. =& ’gg N ANGLE © SPACINGS .7
b 2R 9, s 750 {‘ S SHOWN ON SECTIONS. PR
- - 5 ALTERNATE N p 2 g2 i
090" — 8 LEG LOCATION \ @ 8 i 2 NI
: — 095" 3 | = g ) R ———
N (| _-200" 3 : = N I N SEE |
| jJ 384" = 090" i DERLT : f
” iR | D o ——————
3.000" Max. g "
1.950" 2.000" |_' : |—-7875
» @ P | [--030" PANEL THICKNESS
3" ANGLE BUILD OUT BRACKET ~E”_TRACK (@) REVERSED "F* ANGLE TRACK "E” TRACK ANGLE 4 s
ou : 30 = 1 Sl /e - | S = 17 Py (9 SIUDDED ANGLE DETAIL 13 55, 5100 v/ zhuac
SCALE : 3/8" = 1" * NICKEL PLATED WASHERED

£06E oF D OR A 06t oF D orR @

490"
CL. Min.

kY L gty MIAMI—DADE COUNTY
- kK l 3 1_ N 25 PRODUCT REVISED
or @ i\ I—_ — o [ 2s complying with the Florida
¥3 | g o :
[N =
0.750" 5.625" -%j L :
—~ 957" |-’ 5,000"
t = Min. .085"
e o 0n @ KEY HOLE WASHER @ 22xs5" "
N § J3105-~H154 Alum. ALLOY SCALE : 3/8" = 1"
. SCALE : 3/8" = 1*

OPTION 2 % £ooe or @ ok @ F.B.C.(High Velocity Hurricane Zone)

0.030" THICK GALVANIZED BERTHA M.C.V.

©2009 TILTECO, INC.
02/04,/09
ILIECO 1nc EASTERN METAL SUPPLY, INC. e
4268 WESTROADS DR,
COMPONENTS TR, TESTING & ENGINEETING COMPaNY Ve i SR, P 33407 09-013
Phone (305}877—1530 . Fax ! (305)871-1531 DRAWING No
EB—-0006719 REV. NO DESCRIPTION DATE | REV. Mo DESCRIPTION DATE

P.E. SEAL/SIGNATURE,/DATE Wﬁféﬁfoﬁ' L/'Tc{.LL,/; 4-/;1 5-75- ; OLb 05=073 2/4{09 i S — " sweer 14 o o




CONCRETE ANCHORS
(SEE SCHEDULE ON
SHEETS 5 THRU 7)

:

l

250"
l—Max.

POURED IS
CONCRETE W

REQUIRED \
AANNANNANNNNY

FOR MINIMUM
SEPARATION TO
EXISTING GLASS
ON SHEET 4

L s

—

A\l
Y

/48 ~20 x 1/,
SSMS. W/7/8%3/32"
WING NUT @ EVERY
OVERLAP ® MIDSPAN

A
I\
A

|

Wz

POURED-—/ E’

CONCRETE

OR CONCRETE
BLOCK WALL
REQUIRED

2

.000”

Mox. PANEL LENGTH (SEE SCHEDULE ON SHEET 4)

!
l
l
I
|
|
I
|
|

—

 A——
CONCRETE ANCHORS/
(SEE SCHEDULE ON

SHEETS 5§ THRU 7)

—f——@ Cont.

SECTION @ ANCHOR

—@ Coni.

CONCRETE ANCHORS

CONCRETE ANCHORS
(SEE SCHEDULE ON
SHEETS 5 THRU 7)

gISI

(SEE SCHEDULE ON
SHEETS 5§ THRU 7)

1.00D]

Il

|
fit

POURED
CONCRETE

REQUIRED ™~ g
ANANANYARNNNN

SIS SIS

F

!
|

FOR MINIMUM
SEPARATION TO
EXISTING GLASS

SEE _SCHEDULE.

ON_SHEET 4
— W

v

1/4" 20 x 1/2%
S.SMS. W/7/8"%3/32"
WING NUT @ EVERY
OVERLAP @ MIDSPAN

|
|
|
|
|
|
I
|

|

A
\

\J

FINISHED WALL
W/ sTucco)

AN

J 7
POURED o |
CONCRETE g

OR CONCRETE N
BLOCK WALL R
REQUIRED

= ]

l
|
|
l
|
|

1/4" 8-20 x
3/4" S5 BOLTS
W/ 7/8" x 3/32"
i wine “‘nuT @

12" o..

A\

~

POURED o
CONCRETE o

REQUIRED —\

3

4

Max. PANEL LENGTH (SEE SCHEDULE ON SHEET

RNNNNNY

%
%

JIIS IS IHL NP4

|1 o )
-
500"

CONCRETE ANCHORS

(SEE SCHEDULE ON
SHEETS 5 THRU 7)\

/—@ Cont.

SEE SCHEDULE

—_—
1 ol
23 POURED R
| Y= CONCRETE 0

REQUIRED —\

Il

L

ANNNNNUNNNNS

TS

.500™

/‘@ Cont.
—~

FOR MINIMUM
SEPARATION TO
EXISTING GLASS
ON SHEET 4

%

A
N\
\j

1/4'0 -20 x 1/2%
S.SM.S. W/ 7/8'x3/32"
WING NUT @ EVERY
OVERLAP @ MIDSPAN

A
A
A

N\
N\

'NNNANNNNN

LK

POURED
CONCRETE ;
OR CONCRETE )
BLOCK WALL
REQUIRED

| I —

CONCRETE ANCHORS l
(SEE SCHEDULE ON
SHEETS 5 THRU 7) |

6 ) Cont.

WALL MOUNTING INSTALLATION

CONCRETE ANCHORS /

(SEE SCHEDULE ON.
SHEETS 5 THRU 7)

1/4” 8-20 x 3/4"
SS BOLTS W/ 7/8" x
3/32" WING NUT ©
12" 0. C

o X
L ]88

I
!

BUILD OUT INSTALLATION
SECTION 3

SCALE : 3/8”

= 1

SEL SCHEDULE.

2507 | |
Max.

N e

FOR MINIMUM
SEPARATION TO
EXISTING GLASS
ON SNEET 4

Nr
\

S.SM.S. W/ 7/8'x3/32"

OVERLAP @ MIDSPAN

A
/N

]

7/8" x 3/32" WING

. PANEL LENGTH (SEE SCHEDULE ON SHEET 4

Max.

T POURED —/

OR CONCRETE
BLOCK WALL
REQUIRED

|
TR,

A\

NUT @ 12° 0.C.

|

Max. PANEL LENGTH (SEE SCHEDULE ON SHEET 4)

I
|
|
|
|
|
|
l
!
|
|
1/4'8 20 x 7/2'/%’ @ |
WING NUT @ EVERY |
|
l
|
|
l
l
|
l

1.000"

SHEETS 5 THRU 7)

I
|
l
l
l
l CONCRETE
l
!
!
|
l
]

Il

l
NN\ Lj\\\\\\\

CONGRETE ANCHois/
(SEE SCHEDULE O

| dp i)

500" ||

T

1/4" 8-20x1/2" S.S.M.S.
W/ NUT @ 12" 0. C.

Cont,

BUILD OQUT INSTALLATION
SECTION 4

SCALE : 3/8" = 1"

MIAMI-DADE COUNTY

RODUCT REVISED
s complylng with the Floridz
niding Code

eeeptanes No 0 ¥ - 033 0.
xpiration Datz o 4

F.B.C.(High Velocity Hurricane Zene)

\ SECTION 2 SCALE : 3/8" = 17
l S
1 .
I I 4—® N
] zd
SN ST Z l [ Sz
]! [ gy
q / | I 7/8" x 3/32% LR
N ? ‘ NG NUT @
) Fl | 1270 ¢ £$n ED. = EDGE DISTANCE
Zii | o (SEE SCHEDULE ON
POURED_/ 4 a SHEET 5 ,6 & 7 OF 9)
OF CONCRETE 7 o
BLOCK WALL / S | |
REQUIRED ! >
Z

1(9) Cont,

SECTION @ STUD

WALL MOUNTING INSTALLATION

SECTION 1

SCALE : 3/8" = 1”

NOTE' : DETAIL OF SECTION @ STUD VALID ALSO FOR
WALL MOUNTING INSTALLATION ~ SECTION 2 (TorP)

NOTE FOR COMBINATION OF SECTIONS :

WALL MOUNTING SECTIONS CAN BE COMBINED IN
ANY WAY TO SUIT ANY INSTALLATION.

ete R
L)

Y ”!§’§=
ébu}

¢
ALY

P.E. SEAL/SIGNATURE,/DATE

0.030" THICK GALVANIZED BERTHA M.C.V.
©2009 TILTECO, INC. . .
STEEL STORM PANEL DRAWN BY:
02/04/08
iLlEco . EASTERN METAL SUPPLY, INC. | "o
4268 WESTROADS DR.
LLIT TESTING & ENGINEERING COMPANY
:gs NW. 36th, St Ste. 305, VIRGINIA GARDENS, Fi. 33166 WEST PALM BEACH, FL 33407 09-013
Phone : (305J871-1530 . Fax : (305)8711531 DRAWING N
W TE,‘I?:-BA_O%OB; 73 pE REV. NO DESCRIPTION DATE REV. No DESCRIPTION DATE °
/AL . TILLIT Jr. P.E. — — -
FLORIDA Lic. f# 44167 : o AL - SHEET 2 OF 9




CONCRETE ANCHORS
(SEE SCHEDULE ON
SHEETS & THRU 7)

™~

1
~—.500"

Y
L IT

POURED
CONCRETE

REQUIRED .
Q
\ LL.'

ANNN\N

SN\

!
Il

Cont,
1/4" 8-20x3/4" S.S. MACHINE

BOLT W/ NUT & WASHER
@ 12" 0. ¢

h ’iwg"

S u|

b

|

L

SEE SCHEDULE

FOR MINIMUM SEPARATION
TO EXISTING GLASS
ON SHEET 4

H
=== A

Cont.

.

e

-

A

|
|
L

y I
1/4" 9-20 x 1/2"
S.SMS. W/ 7/8” x 3/32"\
WING NUT @ EVERY

OVERLAP @ MIDSPAN

|
|
[
|

A
AV

|
|

\J
1/4" 9-20 x 3/4"

S.S. BOLTS

3/32" WING NUT
® 12" 0. C.

ALTERNATE
LEG LOCATION

W

A\

W/ '7/8" x

=

Max. PANEL LENGTH (SEE SCHEDULE ON SHEET 4)

|
!
|
[
[
l
J
[
[
I

SHEETS 5 THRU 7)

POURED . ?
CONCRETE g %
CONCRETE J e
BLOCK WALL g
REQUIRED /

|y —— _:‘.1
CONCRETE ANCHO:";‘\S/ ? 8
(SEE SCHEDULE 0O % :

Uti—— 1 — =
T 1" i,
~—1" Min.
1/4” #~20x3/4" 5.5. MACHINE

BOLT W/ NUT & WASHER
@ 12" 0. ¢

1\2 Cont,

BUILD OUT INSTALLATION

— SECTION 5

SCALE : 3/8" = 1"

CONCRETE ANCHORS

CONCRETE ANCHORS

\
|

OVERLAP @ MIDSPAN

(SEE SCHEDULE ON £5 N (SEE SCHEDULE ON
SHEETS 5 THRU 7) -D. N SHEETS & THRU 7)
POURED CONCRETE \\\ POURED CONCRETE \
N i \ REOU/RED—\ i
| 77— § 1"—‘H }
ANNNNNNNNNSIS UNANNN
! T
’ | Pl g8 lALTERNATE
| R LEG LOCATION
, II : II — : ) Cont.
| | Uiy
| | I p
| L
1 A L@ -
I
[
I
i
I

| |
1/4" 9-20 x 1/2"
SSMS. W/ 7&' x 3/32"\
WING NUT @ EVERY
|

ALL POINT SOLID-SET OR GALK—IN OR
PANELMATE FEMALE ID OR PANELMATE
PLUS ANCHORS @ (O W/1/4"9~20
SIDEWALK BOLT OR @ (0 w/AD)
W/1/4"0-20 TRUSSHEAD BOLT * (SEE -
SCHEDULE FOR SPACING ON SHEETS 5
THRU 7)

POURED CONCRETE
OR CONCRETE
BLOCK WALL \

E.D.

t \]
1/47 9-20 x 1/2" ——\
S.S.MS. W/ 7/8% x 3/32"
WING NUT @ EVERY
OVERLAP @ MIDSPAN

Max. PANEL LENGTH (SEE SCHEDULE ON SHEET 4)

REQUIRED

ANNNNNRANNNN

i

M

SEPARATION
EXISTING GLA

SEE SCHEDULE
FOR MINIMUM

' ON SHEET 4

70
SS

Ll

A

|
1/4” 0-20 x 1/2"

WING NUT @ EVERY
OVERLAP @ MIDSPAN

N\
\J

!

S.SM.S. W/ 7/8" x 3/32"

Max. PANEL LENGTH (SEE SCHEDULE ON SHEET 4)

A [ ALl | Al

A: | T A\v' I ] ] | A‘V’ l

— SEE SCHEDULE |- . SEE SCHEDULE —~| | [ |

minon ! b | seoaraon o | | l I I

EXISTING GLASS : bl EXISTING GLASS | ! [ |

ON SHEET 4 ! I 7/8" x 3/32" l ON SHEET 4 | I | | > |

| | NG NIT @ 1/4” 9-20 x | l l SIS

] O Il ! - G 3/4" S.S. BOLTS \J| I I /I

| I | W/ 7/5 X 3/.32 I l /

l Cont, | | W/A‘I’G NUT @ | | . / |

e K | o conene” 3 )

| " L @or(®) o | | BLOCK WALL 7

T, A0\ e 4
W2 ) 7 i Y=o

by
CONCRETE ANCHORS !
(SEE SCHEDULE ON/; 1.000"
SHEETS & THRU 7) b

POURED CONCRETE
REQUIRED

CEILING & FLOOR MOUNTING
INSTALLATION — SECTION 6

SCALE : 3/8" = 1"

£D. = EDGE DISTANCE
SEE SCHEDULE ON

HEET 5, 6 & 7 OF 9)

NOTE FOR COMBINATION OF SECTIONS :

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

__7M+
CONCRETE ANCHORS 1
(SEE SCHEDULE ON

SHEETS & THRU 7) _/

POURED CONCRETE
REQUIRED

!
L

CEILING & FLOOR MOUNTING

ALL POINT SOLID-SET OR CALK~IN OR
PANELMATE FEMALE ID OR PANELMATE
PLUS ANCHORS @ (D W/1/4"9—20
SIDEWALK BOLT OR @ (O w/AD)
W/1/4°0-20 TRUSSHEAD BOLT * (SEE
SCHEDULE FOR SPACING ON SHEETS 5
THRU 7)

WALL MOUNTING INSTALLATION (D.M.)

Max. PANEL LENGTH (SEE SCHEDULE ON SHEET 4)

ANN

SCAL; . 3/8" = 17 - — SCALE : 3/8" = 1"
* SIDE WALK BOLTS ARE V3/4 “8%3 /32" THICK MIAMI~DADE COUNTY
HEAD MACHINE SCREW /LENG H
AS PER NOTES A & B (SHEET 1) PRODUCT REVISED
asjcomiplvi i
* TRUSS HEAD BOLTS ARE 1,/2"0x1,/8"THICK o fooapty g with she Florid
HEAD MACHINE SCREW W/LENGTH ag Code 2760
AS PER NOTES A & B (SHEET 1) Adeeptance No 07-0330. 04,
Egpiration Date Of / /4
By 4
Gauet Contrnd
F.B.C.(High Velocity Hurricane Zone)
0.030" THICK GALVANIZED BERTHA M.C.V.
©2009 TILTECO, INC.
STEEL STORM PANEL DRAWN 87
| | ASTERN METAL SUPPLY, INC. | o
DATE
e S ILIEC O inc. EASTE. 3 ) .
— " - “\ INTILLIT TESTING & ENGINEERING COMPANY 4268 WESTROADS DR.
40 00A 6355 M. 36th, St Ste. 305, VIRGINIA GARDENS, FI. 33166 WEST PALM BEACH, FL 33407 09-013
PR i g quJ Phone : (305)871—153D . Fox : (305)871-1531 DRAWING No
1=l WALTE/'%'-B;O%(L)LEZT 7-3 PE REV. NO DESCRIPTION DATE REV. No DESCRIPTION DATE
P.E. SEAL/SIGNATURE,/DATE ALTER 4. TLUT . PE. : 010 55075 | 27409 : - CI —




~-VARIES 3”
Max.

POURED CONCRETE,

POURED CONCRETE, CONCRETE BLOCK

CONCRETE BLOCK

LSS LSS S S S ]

POURED CONCRETE, WALL OR 2'x4" WOOD WALL OR 2’4" _\
L CONCRETE BLOCK STUDS REQUIRED e
CUT PANEL é i o |-——2.500" Min.
= - REQUIRED 1/4"%0x 1 3/4”
g TAPCON ANCHORS ™™ ~~___
< 1/470x 1 3/4" @ 12" 0. C. N H
; APCON ANCHORS J ¢
,,,,,,, % @ 12"0 ¢ OO N
i 1.0000
! 531,— [
2" x 4" x 125"
gfots—zm OngfSJ—m AlLor é L ::———@ OR @OR @ 2" x 2% x 055" TO / ALTERNATE LEG LOCATION
ont. Alumn. 2.500" Min. » " »
- 2" x 5" x .055” Cont.
? | or @ OR @ OR Alum. ANGLE OR
LA 080" 3105-H154 SHEET
I METAL Alum. BENT PLATE
CASE A (Plan) OTN__ g =9
N T 1/4” ¢ BOLT 4" x 4° x 072"
6 24" 0. C. 3105~H14 OR 6063-T6 ALLOY

SCALE: 1/4" = 1”

W/JACKNUT Cont. Alum. ANGLE
CASE B (Plan CASE C (Plan)
2" x 3" x .093" 3105 H-14 OR 6063~T6 SCALE: 1/4" = 1”7 N SCALE: 1/4" = 1"
ALLOY Cont. Alum. ANGLE W/ 1/4"8x 1 3/4" N\
TAPCON ANCHORS @ 12" O.C.
R e
' WALL OR 2"%4”
3.53._+ WOOD STUDS \
_ > /4 e § o000 REQUIRED RN N
/N Y \R e .
' / WQ%D Gt X =80
/ \(D ‘ ' Y ReaueD DISTANCE
N\
AN / \_—/
CASE D (Plan)
SCALE: /4" = 1"
CASE _E (Plan)
SCALE: 7/4" =1"
MIAMI~DADE COUNTY
921199
MAXIMUM DESIGN PRESSURE RATING "W” (p.s.f.) AND PRODYCT REVISED
3 comglying with the Florida
. 9, 3 idind Cade
CORRESPONDING MAXIMUM PANEL LENGTH "L” SCHEDULE Aeeepiree 1009 03300 4
Em/z;‘ on Dt 0 ¢/¢
MU DESGN | Mox PANEL LENGT | iy seoupanon | sectons 7 & | i f«wmﬁww
W (p.s.f.) (SEE SECTIONS) o GAss N e b
+66.0, —76.0 7'—6” OR LESS 3” 12345 & 8 F.B.C.(High Velocity Hurricane Zone)
0.030" THICK GALVANIZED BERTHA M.C.V.
+60.0, =700 | >7'-6” T0 86" 3" 12,345 & 8 ©2008 TLTECO, NG STEEL STORM PANEL DRAWN BY:
02/04/09
+66.0, —76.0 7'-6" OR LESS 3 34" 6 & 7 — - / I"-lE C O ixe. \ EASTERN METAL SUPPLY, INC. DATE
' m‘@z ™~ 4268 WESTROADS DR,
+60.0, —70.0 >7'-6" 10 8’-6" 3 3/4” 6 & 7 o enan T ggLé,Tw G@ﬁ,ﬁ%i;;f 1 %ﬁ;gggﬁ%&igg: ANY. WEST PALM BEACH, FL 33407 09—013
L ‘ = ("UU] none ¢ (30 53—0005; )7‘9 REV. NO DESCRIPTION oare | Rev. wo DESCRIPTION DATE DRAWING No
P.E SML/SIGNATURE/DATE W Lo Lfc’fL’/; jg, BE z OLD 05-075_| 274708 : = | sweer 4 oF 9




MAXIMUM ANCHORS SPACING FOR E. D. = 3 1/2° ** .
el | iTw BUDEX | Eico FASTENING SYSTEWS £LCO_CONSTRUCTION PRODUCTS POWER FASTENERS AL PoTs__| Seomons # & | muavum PANEL ** MINIMUM ANCHOR SPACING LISTED BELOW ARE AS PER MIN. EDGE DISTANCE
W (p.s.f,) | TAPCONS/MAXI—SET TAPCONS CRETE-FLEX 554 PANELMATE FEMALE 10 PANELMETE PLUS CALK-IN SOLIO~SET ANY COMBINATION | LENGTH "L* (1) SCHEDULE. FOR E.D. LESS SCHEDULE INDICATED, REDUCE ANCHOR SPACING
TO CONCRETE | TO MASONRY | TO CONCRETE | TO MASONRY | T0 CONCRETE] TO MASONRY | T0 CONCRETE| TO MASONRY | TO CONCRETE] TO WASONRY | 70 CONCRETE] TO MASONRY OF THEM BY MULTIPLYING SPACING SHOWN ON SCHEDULE BY THE FOLLOWING FACTORS.
12* N/A 12* N/A 12* N/A 12* N/A 12* N/A N/A N/A 1 (TOP) FOR THIS OPERATION TO BE POSSIBLE, REDUCED SPACING OBTAINED USING
> o 2" p e e 2 o 2 " e 2" P — FACTOR SHALL NOT BE LESS THAN MINIMUM SPACING INDICATED FOR EACH
ANCHOR TYPE AT ANCHORS LEGEND.
12" N/A 12" N/A 12" N/A 12" N/A 127 N/A 12" 12° 2 (TOP)
12* 10" 12" 8" 12" 12* 127 117 12" 1" N/A N/A 2 (BOTTOM) FACTOR
12" N/A 12" N/A 12" N/A 12" N/A 12” N/A N/A N/A 3 (TOP)
12" 10" 12" 8" 12" 12" 12" 1" 12" 17" N/A N/A 3 (8OTTOM) ACTUAL E. D. TAPCON CREQESZFLEX PAZ‘E;-AZ;:ETE PAAIE;LUA?TE CALK—~IN SOLID—SET
+60.0, —61.5] 12" N/A 12" N/A 12" N/A 12" N/A 12* N/A N/A N/A 4 (T0P) "~0" OR LESS
2 0" - p - 2 2 o, 12" s A a 4 (B0TTON) Min. spacing=3" | Min. spocing=3" | Min. spacing=3"| Min. spacing=3" |Min. spacing=2 1/2] Min. spacing=3"
12" N/A 12" N/A 12% N/A 12" N/A 12" N/A N/A N/A 5 (TOP) 1 1/2” .35 .50 - - - -
12" 8" 12" 7" 12* 12" 12" 10" 12" 10" N/A N/A 5 (BOTTOM) 2 1/2” - - - - 0.50 63
12" N/A 12" N/A 12" N/A N/A N/A 12* N/A N/A N/A 6 (T0P) 3" 100 1.00 - 1.00 0.63 _
12° N/A 12" N/A 12" N/A N/A N/A 12" N/A N/A N/A 6 (BOTTOM) 3 1/2" — _ 1.00 — 1.00 1.00
12" N/A 10" N/A 12" N/A N/A N/A 11 N/A N/A na |7 (ror/soTToM)
N/A N/A N/A N/A 12" 12" 12” 12" 12* 6" 12” 12* |8 (Tor/BOTTOM)
i A ol A il e il ada 'z Ao A A ) A REDUCTION FACTOR APPLICABLE FOR POURED CONCRETE ONLY.
12* 8" 12" 7" 12" 12" 12" 10” 12" 9 1/2" 12" 12" 1 (BOTTOM)
12° N/A 12* N/A 12" N/A 12" N/A 127 N/A 12" 12" 2 (TOP)
12" 8" 12" 7" 12" 12" 12" 10" 12" 9 1/2" N/A N/A 2 (BOTTOM) £.0. = EDGE DISTANCE
12" N/A 12" N/A 12” N/A 12 N/A 12* N/A N/A N/A 3 (T0P)
12* 8" 12" 7" 12" 12" 12° 10" 12* 9 1/2” N/A N/A 3 (BOTTOM)
+66.0, -72.0{ 12" N/A 12* N/A 12" N/A 12" N/A 12 N/A N/A N/A 4 (T0P) "~0" OR LESS
e T o o |~ T T T T o T oo oo o ** MINIMUM ANCHORS E.D. SCHEDULE
12 N/A 12 N/A 12" N/A 12" N/A 12 N/A N/A N/A 5 (ToP) MINIMUM EDGE
2" 5 12" 5" 12" 10° 12" 7 2 7 va | wa | s orom ANCHORS TYPE DISTANCE (£.0.)
12" N/A 12" N/A 12" N/A N/A N/A 12 N/A N/A N/A 6 (ToP) CONCRETE | C. BLOCK
12* N/A 10" N/A 2" N/A N/A N/A 1” N/A N/A N/A 6 (BOTTOM) 1/4"8 TAPCON 3” 3"
10" N/A 8 1/2" N/A 1 N/A N/A N/A 9" N/A N/A N/A 7 (TOP/BOTTOM)
N/A N/A N4 N 12" 12" 12" e 12 P 12" 12 |a ror/momrom) 1,/4"8 PANELMATE FEMALE D 3" 3 1/2"
12” N/A 12" N/A 12" N/A 12" N/A 12" N/A N/A N/A 1 (T0P)
12" 8" 127 6 1/2" 12" 12 12* 8 12" 9" 12 12* 1 (BOTTOM) /48 PANELMATE PLUS ’ 312
12" N/A 12* N/A 12" N/A 12" N/A 12* N/A 12* 12* 2 (TOP) 1/4"8 CALK~IN 3” 4"
12" 8" 12" 6 1/2" 12" 12* 12" 9” 12* 9" N/A N/A 2 (BOTTOM)
12" N/A 12” N/A 12 N/A 12" N/A 12" N/A N/A N/A 3 (T0P) 1/4"8 SOLID~SET 3 12" 3 12
12° 8" 12* 6 1/2" 12" 12" 12" 9" 12" 9" N/A N/A 3 (BOTTOM) MIAMI—DADE COUNTY
60,0, ~61.5 12" N/A 12" N/A 12" N/A 127 N/A 12" N/A N/A N/A 4 (TOP) >6°-0" T0 7'-6" FRO) UC?REVZSE@
12" 8 12" 6 1/2" 12* 12" 12" 9" 12" 9" N/A N/A 4 (BOTTOM) 2s eofplying with the Fontds
12 N/A 12” N/A 12" N/A 12" N/A 12" N/A N/A N/A 5 (TOP) iffj&f igﬁgﬁ?@ 09- 0330'0
12* 5" 10 1/2" 4" 12* 9” 12" 6 12" 6" N/A N/A 5 (5OTTOM) Expifation f“zmz
12* N/A 12" N/A 12’ N/A N/A N/A 12* N/A N/A N/A 6 (ToP) A, ‘fﬁ ;
" N/A 9 1/2" N/A 12 N/A N/A N/A 10 1/2* N/A N/A N/A 6 (BOTTOM) K gt Uw“‘g
9" N/A 1 1/2* N/A 1o 1/2 N/A N/A N/A 9 1/2" N/A N/A N/A 7 (TOP/BOTTOM)
N/A N/A N/A N/A 12* 12* 12" 6" 12* 6" 12* 12* |8 (ror/BomTOM)
F.B.C.(High Velocity Hurricane Zone)
] SIG, ATING p.sf) A ] [AX 4 NG ©2009 TILTECO, INC. 0.030 STT/Z_/ELK S%A/A’jN/PZA%ELBER THA DR:l.Wc;‘\.IMBY:
SCHEDULE FOR INSTALLATIONS INTO CONCRETE AND CONCRETE BLOCK STRUCT URES * 02,/04/09
EAGEE AR YRt e | TLIECO m \| ctsramt wers surmur e, | 5
__EEB.J_&.Zﬂﬂg___ EB-0006719 REv. O BESCRIPTION | REV. Mo DESCRIPTION oATE o
P.E. SEAL/SIGNATURE/DATE WALTER A LIQ’#}’[ s : oLb 05-075 | 2/4709 : - = | sweer 5 oF 9




* SEE NOTES ON SHEET 8 & 9 OF 9 FOR ANCHOR TYPES & SPACING
FOR INSTALLATIONS INTO WOOD FRAME BUILDINGS.

DESIGI{Ilem LTW. BULDEX | ELcO FASTENING sysmmwu ANﬂ‘.:chRscofv;;;lgcengJR;ogbc:sJ 2 ”Pom FASTENERS ALL POINTS gf.';%,’gfv';‘ffg MAXIMUM PANI ** MINIMUM ANCHOR SPACINGS LISTED BELOW ARE AS PER MIN. EDGE DISTANCE
W (p.s.f,) |PAPCONS/MAXI~SET TAPCONS CRETE-FLEX 5S4 PANELMATE FEMALE iD PANELMETE PLUS CALK—IN SDUD-SET ANY COMBINATION} LENGTH "L" (R, SCHEDULE. FOR E.D. LESS THAN INDICATED ON SCHED ULE, REDUCE ANCHOR
TO CONCRETE | TO MASONRY } TO CONCRETE| TO MASONRY | TO CONCRETE | TO MASONRY | TO CONCRETE | TO MASONRY | T0 conereTe | rO MASONRY 1 TO CONCRETE | TO MASONRY OF THEM ?;/43 A Cé % % B YO A” U%/_Z/g L)O//gEGRAS;_//D ’04/\6;//\/7% %/Z O%gsg/%LEC%EEDDtjULC‘EEDB);‘PCI:’CE/NZOLLOW/NG
- Z SN,/:Z. = ':TA Z N:f : 7N,//Az_ 'ZA 'Z a 1’(523':)”) OBTANED UaG FACTOR it NoT B2 J2as THAN MINIMUM SPACING
INDICATED FOR EACH ANCHOR TYPE AT ANCHORS LEGEND.

12* N/A 12" N/A 12" N/A 12" N/A 12" N/A 12" 12* 2 (ToP)
12* 6" 12" 5 1/2" 12* 1 12" 8" 12" 7 1/2* N/A N/A 2 (BOTIOM) FACTOR
12 N/A 12 N/A 12* N/A 12" N/A 12" N/A N/A N/A 3 (ToP)
12* 6" 12" 5 1/2" 12" 117 12 8 12" 7 1/2" N/A N/A 3 (50TTOM) ACTUAL £ D. TAPCON CREg_;;FLgX PAFI\-IE;'AZ/I?/fi\ETE PA/\,LELLUAQA * CALK=IN SOLID=SET

+66.0, —=72.0 12: N/:q 12" N/A 12" N/A 12" N/A 12" N/A N/A ade 4 (or) 6-0" 0 767 Min. spacing=3" | Min. spocing=3" | Min. spocing=3"| Min. spocing=3" |Min. spacing=2 1/27 Min. spocing=3"
12 6 12" 5 12" 12* 117 12" 8" 12" 7 1/2” N/A N/A 4 (BOTTOM)
12” /A 12° N/A 127 /A 127 A 127 /A /A /A 5 (10P) 112" 35 .50 — _ - -
1" + 8" 3" 12 6 12 pr 177 4 1/2" N/A N/ 5 (B0TTOM) 2 1/2” - - - - 0.50 .63
12* N/A 12" N/A 12" N/A N/A N/A 1" N/A N/A N/A 6 (TOP) 3” 1.00 1.00 - 1.00 0.63 -
9* N/A 8” N/A 10" N/A N/A NA 8* N/A N/A N/A 6 (BOTTOM) 3 1/2" - — 1.00 - 1.00 1.00
8" N/A 10" N/A 9" N/A N/A N/A 7" N/A N/A N/A 7 (TOP/BOTTOM)
N/A N/A N/A N/A 12” 12* 12* 6" 12” 6" 12" 12" 8 (TOP/50TTOM)
12* N/A 12° N/A 12" N/A 12° N/A 12" N/A N/A N/A 1 (TOP) 4 REDUCTION FACTOR APPLICABLE FOR POURED CONCRETE ONLY.
12* 7" 12" 5 1/2" 12* 12" 12" 8" 12" 8" 12" 12" 1 (50TTOM)
12 N/A 12 N/A 12" N/A 12" N/A 12" N/A 12* 12" 2 (ToP) '
12° 7" 12" 5 172" 12* 12* 12” 8” 12" 8" N/A N/A 2 (50TTOM) £.D. = EDGE DISTANCE
12" N/A 12* N/A 12" N/A 12* N/A 12" N/A N/A N/A 3 (ToP)
12* 7" 12* 5 1/2" 12* 12" 12" 8" 12" 8" N/A N/A 3 (BoTIOM)

+60.0, —61.5 12* N/A 12" N/A 12" N/A 12" N/A 12" N/A N/A N/A 4 (TOP) >7'-6" TO 8°-6"
12° 7" 12* 5 1/2 12" 12" 12° 8" 12" 8" N/A N/A 4 (BOTTOM) ** MINIMUM ANCHORS E.D. SCHEDULE
12" N/A 12" N/A 12" N/A 12* N/A 12" N/A N/A N/A 5 (TOP) g,’gl%%i- E(LZ_G;‘ )
12" 4" 8 1/2” 3" 12" 7" 12" 4 12" 4 1/2" N/A N/A 5 (80TTOM) ANCHORS TYPE concrere | ¢ BLock
9" N/A 12" N/A 12" N/A N/A N/A 1 N/A N/A N/A 6 (TOP)

101/2° | N 8 1/2" N/A 10 1/2" N/A N/A N/A 9" N/A N/A N/A & (BOTTOM) 1/4"8 TAPCON 3" 3"

8" N/A 10 172" N/A 9" N/A N/A N/A 7" N/A N/A N/A 7 (TOP/BOTTOM)
N/A N/A N/A N/A 12 12 12" pe 12* 6" 12" 12 |8 (roe/Bormom) /470 PANELMATE FEMALE 1D 3" 3172
12" N/A 12" N/A 12 N/A 12” N/A 12" N/A N/A N/A 1 (ToP) 1/4°0 PANELMATE PLUS 3" 3 1/2”
12* 6" 12" 4 172" 12" 10" 12" 7" 12" 6 1/2" 12" 12" 1 (BOTTOM)
12" N/A 12" N/A 12* N/A 12* N/A 12* N/A 12" 12" 2 (ToP) 1/4"0 CALK~IN 3" 4"
12" 6" 12" 4 172 12* 10" 12* 7" 12* & 1/2" N/A N/A 2 (BOTTOM)
12" N/A 12" N/A 12* N/ 12" N/A 12" NA N/A N/A 3 (op) 1/4'0 SOLID-SET 3172 32
12" & 127 4 1/2" 12" 10" 12° 7" 12* 6 1/2 N/A N/A 3 (BOTTOM)

+66.0, ~72.0] 12" N/A 12 N/A 12" N/A 12" /A 12 N/A N/A N/A 4 (e} |>7-6" 10 876" MIAMI—-DADE COUNTY
12* 6" 12” 4 1/2" 12" 10" 12" 7 12* 6 1/2" N/A N/A 4 (80TTOM) PRODUCT REVISED
12* N/A 12 N/A 12" N/A 12 N/A 12* N/A N/A N/A 5 (T0P) %ia?ggg gg?%:f;ﬁm e Flustda
9" 3" 6" N/A 1" 5" 1m” 3* 9" 3 1/2" N/A N/A 5 (BOTTOM) Accenthnes Na,gz—- 0330-04_
" N/A 1" N/A 11 1/2" N/A N/A N/A 10" N/A N/A N/A 6 (ToP) Exgirapion Dote ) olq
8" N/A 7" N/A 9" N/A N/A N/A 7 N/A N/A N/A 6 (BOTTOM)
7 N/A 6 1/2" N/A 7 1/27 N/A N/A N/A &” N/A N/A N/A 7 (TOP/B0TTOM) il
NA N/A N/A N/A 12” 6" 12” 6" 12” 6 12" 12" 8 (TOP/BOTIOM)

F.B.C.(High Velocity Hurricane Zone)

I I i! ] Es :!""H Phone :

P.E. SEAL/SIGNATURE/DATE

QWB/ IILlECO INC. \

0.030" THICK GALVANIZED BFRTHA M.CV.
@2009 TILTECO, INC. . 5
STEEL STORM PANEL DRAWN BY:
02/04/09
EASTERN METAL SUPPLY, INC. DATE
4268 WESTROADS DR.
TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. J6th, St, Ste. 305, VIRGINIA GARDENS, Fl, 33166 WEST PALM BEACH, FL 33407 09-013
(30578711530 . Fax : (305)87 11531 DRAWING. No
55—00051 19 c REV. NO DESCRIFTION DATE REV. No DESCRIPTION DATE
WALTER A. TILLIT Jr. P.E. — — -
FLORIDA Lic. f# 44167 ! oD 05707 (okeey ¢ = = | SHEET 6 OF 9




MAXIMUM ANCHORS SPACING FOR E. D. = 3 1/2° #*
DE;I?NML - m/;mv. _awws( E00 FAST?VING SYSTEMS ELCO CONSTRUCTION PRODUCTS POWER FASTENERS ALL POINTS SECTIONS # '2 MAXIMUM PANEL
0.9.1,) /MAXI—SET TAPCONS CRETE—FLEX S54 PANELMATE FEMALE 1D PANELMETE PLUS CALK-IN SOLD-SET ANY COMEINATION| LENGTH "L” (t.)
TO CONCRETE | TO MASONRY | TO CONCRETE | TO MASONRY | TO CONCRETE | TO MASONRY | TO CONCRETE | TO MASONRY } TO CONCRETE| TO MASONRY | 70 CONCRETE | TO MaSONRY OF THEM
12" N/A 12" N/A 12* N/A 12* N/A 12" N/A N/A N/A 1 (TOP)
12" 8" 12* & 1/2" 12* 12" 12" 9" 12” 9” 12* 12" 1 (BOTTOM)
12" N/A 12" N/A 12” N/A 12" N/A 12" N/A 12" 12" 2 (TOP)
12* 8" 12* 6 1/2" 12" 12" 12* 9” 12" 9" N/A N/A 2 (BOTTOM)
12* N/A 12" N/A 12* N/A 12* N/A 12" N/A N/A N/A 3 (ToP)
12" 8" 12" 6 1/2% 12" 12" 12" 9" 12" 9° N/A N/A 3 (BOTTOM)
1+66.0, -76.0 12" N/A 12" N/A 12" N/A 12* N/A 12" N/A N/A N/A 4 (TOP) '—0" OR LESS
12* 8" 12* 6 172" 12* 12" 12” 9" 12~ 9" N/A N/A 4 (50TTOM)
12" N/A 12" N/A 12* N/A 12" N/A 12" N/A N/A N/A 5 (TOP)
12* 5" 12" 4 1/2% 12" 9” 12” 5" 12" 6" N/A N/A 5 (BOTTOM)
12" N/A 1 N/A 12" N/A N/A N/A 12* N/A N/A N/A 6 (TOP)
1" N/A 12* N/A 12" N/A N/A N/A 10" N/A N/A N/A 6 (BOTTOM)
9" N/A 9 172" N/A 10 1/2° N/A N/A N/A 9” N/A N/A N/A 7 (TOP/BOTTOM)
NA N/A N/A N/A 12* 12* 12* 6" 12* 6" 12* 12* 8 (TOP/BOTTOM)
12* N/A 12~ N/A 12* N/A 12" N/A 12" N/A N/A N/A 1 (TOP)
12" 6" 12" 5" 12" 1" 12" 7 1/2" 12" 7" 12" 12" 1 (BOTTOM)
12" N/A 12” N/A 12" N/A 12* N/A 12" N/A 12" 12" 2 (T0R)
12° 6 1/2" 12" 5" 12" 12° 12* 7 1/2" 12" 7" N/A N/A 2 (BOTTOM)
12° N/A 12" N/A 12" N/A 12” N/A 12” N/A N/A N/A 3 (TOP)
12" 6" 12" 5" 12" 1" 12* 7 1/2° 12" 7" N/A N/A 3 (BOTTOM)
+66.0, —76.0 12" N/A 12* N/A 12* N/A 12~ N/A 12" N/A N/A N/A 4 (TOP) >6'-0" TO 7°-6"
12" 6” 12" 5" 12" 11* 12* 7 1/2" 12" 7 N/A N/A 4 (BOTTOM)
12" N/A 12" N/A 12* N/A 12* N/A 12* N/A N/A N/A 5 (T0P)
10 1/2" | 3 1/2” 7" 4" 12" 6” 12* Py 10 1/2* Yy N/A N/A 5 (50TTOM)
1 1/2" N/A 11” N/A 12" N/A N/A N/A 10 1/2" N/A N/A N/A 6 (TOP)
9” N/A 7 1/2° N/A g t/2" N/A N/A N/A 8" N/A N/A N/A 6 (BOTTOM)
7 12" N/A 9 172" N/A 8 1/2° N/A N/A N/A 7 N/A N/A N/A 7 (TOR/BOTTOM)
N/A N/A N/A N/A 12° 6" 12* 6" 12” 6" 12" 12" |8 (ToP/BOTTOM)
12" N/A 1 1/2" N/A 12" N/A 12" NA 12" N/A N/A N/A 1 (TOP)
12" 5" 11 172" | 4 1/2° 12” 9~ 12" 6" 12* 6 1/2" 12" 12* 1 (5OTTOM)
12" N/A 11 1/2" N/A 12" N/A 12* N/A 12* N/A 12" 12° 2 (ToP)
12" 5" 1 1/2* | 4 172" 12" 9" 12° 6" 12" 6 1/2" N/A N/A 2 (80TTOM)
12" N/A 11 1/2" N/A 12* N/A 12” N/A 12" N/A N/A N/A 3 (TOP)
12* 5" 11 1/2" | 4 1/2" 12* 9~ 12" 6" 12" 6 1/2" N/A N/A 3 (BOTTOM)
+66.0, -70.0 12* N/A 11 1/2" N/A 12" N/A 12* N/A 12" N/A N/A N/A 4 (T0P) I>7'~6" 10 8°-6"
12" 5" 11 1/2” 4 1/2" 12" g” 12* 5" 12" 6 1/2" N/A N/A 4 (BOTTOM)
12” N/A 1 1/2" N/A 12* N/A 12" N/A 12" N/A N/A N/A 5 (TOP)
8" N/A 5 1/2" 3~ 10" 4 1/2" 10" 3 a* 3" N/A N/A 5 (BOTTOM)
107 N/A 10 1/27 N/A 1" N/A N/A N/A 9” N/A N/A N/A 6 (TOP)
8" N/A 7" N/A g 1/2" N/A N/A N/A 7" N/A N/A N/A 6 (BOTTOM)
7" N/A 8 1/2" N/A 7 172" N/A N/A N/A 6" N/A N/A N/A 7 (TOR/BOTTOM)
N/A N/A N/A N/A 12" 6" 12" 6° 12" 6" 12" 127 8 (TOF/BOTTOM)

¥ SEE NOTES ON SHEET 8 & 9 OF 9 FOR ANCHOR TYPES &
SPACING FOR INSTALLATIONS INTO WOOD FRAME BUILDINGS.

** MINIMUM ANCHOR SPACING LISTED BELOW ARE AS PER MIN. EDGE DISTANCE
SCHEDULE., FOR E.D. LESS SCHEDULE INDICATED, REDUCE ANCHOR SPACING
BY MULTIPLYING SPACING SHOWN ON SCHEDULE BY THE FOLLOWING FACTORS.
FOR THIS OPERATION TO BE PQSSIBLE, REDUCED SPACING OBTAINED USING
FACTOR SHALL NOT BE LESS THAN MINIMUM SPACING INDICATED FOR EACH
ANCHOR TYPE AT ANCHORS LEGEND.

FACTOR
ACTUAL £ D. | mapcon  |“RETEZFEEX), iz | PARCITE | catk—iv | soLip-SET
Min. spacing=3" | Min. spacing=3" | Min. spacing=3"| Min. spacing=3" |Min. spacing=2 1/27 Min. spocing=3"
1 1/2" 35 .50 - - - -
2 1/2" - - - - 0.50 63
3" 1.00 1.00 - 1.00 0.63 -
3 1/2" - - 1.00 - 1.00 1.00

A REDUCTION FACTOR APPLICABLE FOR POURED CONCRETE ONLY.

ED. = EDGE DISTANCE

** MINIMUM ANCHORS E.D. SCHEDULE
MINIMUM EDGE
ANCHORS TYPE DISTANCE (E.D.)
CONCRETE | C. BLOCK
1/4°¢ TAPCON 3" 3"
1/4"¢ PANELMATE FEMALE ID 3" 3 1/2"
1/4"0 PANELMATE PLUS 3" 3 1/2"
1/4°¢ CALK—IN 3 4”
1/4°% SOLID~SET 3 1/2" 3 1/2”

F.B.C.(High Velocity Hurricane Zone)

PROPUCT REVISED
plying with the Florida
Bulding Code

Ascehinace Ne 0 - 033004

P
Hxpitation Date

88 ¢

MIAMI—-DADE COUNTY

FLORIDA Lic. § 44167

0.030" THICK GALVANIZED BERTHA M.C.V.
©2009 TILTECO, INC. .
STEEL STORM PANEL DRAWN BY:
02/04,/09
e ILIEC O inc EASTERN METAL SUPPLY, INC. | i
= N gyl . 4268 WESTROADS DR,
T TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. 36th, St, Ste. 305, VIRGINIA GARDENS, Fl. 33166 WEST PALM BEACH, FL 33407 09-013
FEB 1 8 znng Phone : (305)871-1530 . Fax : (305)871-1531 DRAWING N
£8-0006719 REV. NO DESCRIPTION DATE REV. No DESCRIPTION DATE o
P.E. SEAL/SIGNATURE,/DATE WALTER A. TILLIT Jr. P.E. ; LD 05-073 | 2/4/09 | 3 " SEET 7 OF ©

4




i

A A

v A

I ¥

SEE_SCHEDULE,

\_@ Cont.

¥
SEE SCHEDULE

[ For win. 1 —® —® 1/4°0-20x3/4" S.5.

5

SEE_SCHEDULE. FOR Min. SEPARATION BOLTS @ 12” 0. C.

W/ NUT & WASHER

1/4” 8 LAC 1" x 2" x -125" (Min.) Alum.
A SCREWS @ 6" 0. C. W/ ! TUBE W/ 1/4" o N
' 1 1/2” Min. THREADED S LAG SCREWS ® 6" 0. C. W/ %
o PENETRATION TO EXISTING 1 172" Min. THREADED 1/4" @ LAG
WOOD HEADER. PENETRATION TO EXISTING SCREWS @ 6" 0. C. W/
WOOD HEADER. 1 1/2" Min, THREADED
_ 5 . PENETRATION TO EXISTING
S : o WOOD HEADER.
; @ % I ] 8 S
] o g IEERRAEE ‘E—- § g. ‘\ [ L&‘ )é
| ] : I )
| cont ¥ , IS | s =§ I |
B Sk oo il e
| @ E] 8 ] E] | Cont.
QS A
L ] - I
| woop Heaper | | WOOD HEADER | "“() | WOOD HEADER | *'—@
I REQUIRED I I I REQUIRED I I REQUIRED I ] \
~
N \
SEE SCHEDULE S = . SEE_SCHEDULE , I I
FOR Min | b |_SEE_SCHEDULE | 3 ™ For win, serararon | | B 1 SEE SCHEDULE | —®
SEPARATION l " FOR Min. SEPARATION N TO EXISTING GLASS | S
ARATION TO ) ITO EXISTING GLASS l ) I SEE SCHEDULE E FOR Min. SEPARATION ” »
EXISTING GLASS W I TO EXISTING GLASS ' 7/8" @8 x 3/32
Isee screpuie | S |SEE SCHEDULE | A4 | ON SHEET 4 | % WING NUT
ON SHEET 4 = ON SHEET 4 S S ! SEE SCHEDULE o | EVERY STUD
| | o I | S I || S ON SHEET 4 8 24 @
I = I S l —12" 0. C
I ! | o ' A | § { A | ty I -
S < 1
ALTERNATIVE 1 g ALTERNATIVE 3 g ALTERNATIVE 5 z vl
~ § 2 l
g 4 3 -
N .
g g g
g g

I SEPARATION TO

™" For win. |

EXISTING GLASS

—
500

I
{
| 7O _EXISTING GLASS
|

! I
| | |
SEE SCHEDULE » " SEPARATION TO SEE SCHEDULE | Cont
lon smeer 4 | |7rero x 352 | ExisTinG cuass | | ON SHEET 4 , ont.
l EVERY STUD @ H SEE SCHEDULE I 1 ©
1270, ¢ ON SHEET 4 8 « | | "
| I ' : 1/4" o LAG
o : < | SCREWS @ 6" 0. C. W/
: | | iy " Mi
i : ) | 1 1/2" Min. THREADED
e | o - PENETRATION TO EXISTING
X E3 | o | WOOD PLATE.
: — 1/4" 620 x
s @ 3/4" S.S. BOLTS W/ i
\ =Y Cont. 7/8" x 3/32" w
R Q cont. WING NUT @ X 1/4 , ?~-20 x
S . . o Cont 3/4” 5.5. BOLTS W/
% =l 12" 0. C. &\ ont. 7/8" x 3/32"
p /\ AN\ 140 LG 2" x 4" WooD il WiNG NUT © J
SCREWS @ 6” 0. C. W/ PLATE REQUIRED w \  1/4" 8 146 i ) 12" 0. C. WoOD STUD
1 1/2" Min. THREADED SCREWS @ 6" 0. C. W/ 1/4” 8 LAG @ 24" 0. C.
PENETRATION TO EXISTING . 1 1/2" Min. THREADED N SCREWS @ 6" 0. C. W/ REQUIRED
WOOD PLATE. ‘ PENETRATION TO EXISTING »\/ 1 1/2" Min. THREADED
) ! : WOOD PLATE, PENETRATION TO EXISTING

\ .
2" x 4" WOOD PLATE WOOD PLATE.

REQUIRED WooD STUD
&2 ALTERNATIVE 7
ALTERNATIVE 2 ALTERNATIVE 4 ALTERNATIVE & MIAMI—DADE COUNTY
PROBUCT REVISED
;:a ? ir:gigi:f;vith ihe Flovida
WALL MOUNTING INSTALLATIONS Aceqptance No 09 - 0230 04
N Explration Date p 4 M O /4
SECTIONS A B
SCALE : 1/4* = 1" Y ot ey

NOTE FOR COMBINATION OF SECTIONS:

WALL MOUNTING SECTIONS CAN BE COMBINED
IN ANY WAY TO SUIT ANY INSTALLATION.

INSTALLATION DETAILS ON EXISTING WQOD BUILDINGS

F.B.C.(High Velocity Hurricane Zone)

0.030" THICK GALVANIZED BERTHA M.C.V.
©2009 TILTECO, INC. ' )
STEEL STORM PANEL DRAWN BY:
O 02/04,/09
1. INSTALLATIONS ARE ONLY VALID FOR DESIGN WIND LOADS AND Max. w\\ ILIECO nc EASTERN METAL SUPPLY, INC. DATE
PANEL LENGTHS AS PER SCHEDULE ON SHEET 4 OF 9 e e . 4268 WESTROADS DR.
R LIT TESTING & ENGINEERING COMPANY WEST PALM BEACH. FL 33407 09—013
2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN 18 2009 VT2 Brens tsoajarre 1350 VoA SAROENS, isi 190 '
PINE Neo. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL. FEB 1 o Es-coseris e T T T P ——|  DRAWING No
N Jr. P.E. - -
P.E. SEAL/SIGNATURE/DATE WthRIDA L,TCL VAL ; oLb 05-073 2/4{09 i - = | sueer 8 oF 9




1/4" 8 LAG SCREWS @

EQ, EQ

6” 0. C. W/ 1 1/2" Min. THREADED 1/4" 9-20 PANELMATE 7/8" x 3/32"
A PENETRATION TO EXISTING WOOD HEADER. I\ FEMALE ID OR PANELMATE PLUS x
T 7 ! ® 12" 0.c. W/ 1 7/8" Min. WING NUT @ goggnrgus&s&'gt_gﬁmfz%ﬁm
: THREADED PENETRATION. A 1270 ¢ / T
§ . Cont, 7/8" 8 x 3/32" I
- 1/4"6-20x3/4" S.S. BOLTS @ WING NUT @ I —/7"’/’_—‘\\
N 12" 0.C. W/ NUT & WASHER EVERY STUD © !
. . 12" 0. ¢ i e
' TS T | SEE SCHEDULE 23 3 <
. S [ g -
/| == B Qs = & . (™ FOR Mim. 33 £Q
: i " Lo I SEPARATION TO 20 — 8
2 | =% ﬂ - I I EXISTING GLASS S —
b s | [ z I | SEE SCHEDULE e . , .
’ N vl @ ' | o bl I on sHEET 4 2" x 6 1" x 4" x 1/8" (Min,)
N | & I I g’h‘j WOOD DECK \ 6063~T5 Alurn. TUBE
| | | (o S a — T W/ (2)5/16" ¢
' © . 1Y REQUIRED G SCREWS TO EACH
P | LA\ cont. W it "L . (NO FINISH i . i LA W,
nE ! ! S [y [ bt Cont. ALLOWED) 1 ~| RAFTER OR TRUSS, LOCATE
a y : = . = vy R B iy
WOOD HEADER | | Iy I WoOD HEADER I > ~ test s | ] N STIA R,
i ! B N I S S S M s S| (2" Min, NOMINAL WIDTH
| REQUIRED : : -—@ é = REQUIRED ; : :'04 I @ 6" 0. C { : \ Cont. J& 5,/ z';/z" Min. THREADED
! I | = | SeE scHEDULE | - g lql sr soreoue | ! g:@ PENETRATION.
| SEE SCHEQULE 4 | S i COR Min N 0 S ——— e ] —FR ]| L (]) 32
I FOR Min. SEPARATION | i g ISEPARATION TO [ 3 V' separaTiON TO | Lo -
I TO EXISTING GLASS | I IEXISTING GLASS | P 2 /" l ' EXISTNG 6L4SS | i ¥u
H SEE SCHEDULE i | E ﬂgEE SCHé;DULE . y 1/4" @ LAG SCREW 3 SEE SCHEDULE | P L
d ON SHEET 4 { ! 2 |ON SHEET 4 Lo & W/ 1 1/2 Min. THREADED | ON SHEET 4 [,
i | ! i Lo Ny PENETRATION @ 4” O.C. h \
I | X ] . 5
) A 3 A A1 g
\ \ \- \ § ALTERNATIVE 1 ALTERNATIVE
ALTERNATIVE 8 ALTERNATIVE 10 : e (Wox. DESGN LOAD= + 670 psr
- s Max. PANEL LENGTH= 8'—0"
=~
—A A n‘_ WOOD TRUSSES OR RAFTER
I SEE SCHEDULE I % \ J' | ’é ® 24" 0. C. REQUIRED
I FOR Min. SEPARATION ! N |SEE SCHEDULE I = . \
4] 8
j TO EXSTING GLASS | ISEPARATION TO Lo { T
§ SEE SCHEDULE I 2 IEXISTING GLASS P { | =
H ON SHEET 4 [ S I SEE SCHEDULE I ljl Lo ET
! SHEET 4 b SEE_SCHEDULE i =3
'I} ALTERNATE | ! — U ! §\® o Lo 58
| LEG I & AP Lo SEPARATION TO | Do S
| LOCATION Lo = g Lo EXISTING GLASS L 12" x 6" W
! V | 5 f Lo | SEE SCHEDULE | | wooo pEck 8
I ! Z o I ON SHEET 4 I | REQUIRED .
’l} | g £ £ L l I @or® I (o F/N/?H Eﬁ
! o : 14 x 3/4" L= 1" x 4" x 1/8" (Min.) OR ALLOWED, ~
! I 3 | 147 9-20 PanELMATE RN AR =1 N\ 6063=T5_Alm. TUBE oont. L
I . & 2%a” WO, ©"N—— FEMALE ID OR PANELMATE PLUS @ 5 1/2" o.C. T T W/ (2) 5/16" ¢ —\ /
! . % P D @ 12" Oc. W/ 1 7/8" Min. T : RALTES O TROSS. 5 DCATE :
[l ! = REQUIRED Lo THREADED PENETRATION. (Ebhgi .—‘ b g SCREWS AT MIDWIDTH OF , A\
L 5. . g VY i 3D -1 ‘ont, i i EXISTING WOOD MEMBER, -r/—ﬂ\M
. T » » . NOMINAL WIDTH,
: \1/4 #-20 x 3/4 B i SEE _SCHEDULE ! l 2/ g’"; /2" Min. THREAD)ED )
= "\ S.S. BOLTS W/ 7/8% =5 FOR Min. i | PENETRATION. | \— i
NJHEL 3/32" WING NUT 3= ) SEPARATION TO | ! £0 | £Q 1/4" 8-20 x 3/4"
o [ @ 127 o % j EXISTING GLASS | PN " ., s, BOLTS W/ 7/8"
R 4 | SEE SCHEDULE | ! /4" 8-20 x 374" 1/4" 8 LAG SCREW 3/32" WING NuT
1/4” 9-20 S.S. : ~ L ON SHEET 45 | I | ss BoiTs w/ 7/8% W/ 1 1/2 Min, THREADED @ 12" O.C.
B0LTS @ v 3/32" WING NUT PENETRATION @ 4” O.C.
) 12” 0.C. W, @ 12" 0.C.
. NUT & WASHER,
oop ‘stup/ W1} 1/4" @ LAG SCREWS @ (Max. DESIGN LOAD= % 61.0 psf - MIAMI—-DADE COUNTY
/| EZL‘/’,:! I:Q C. . 6" 0. C. W/ 1 1/2" Min. THREADED Max. PANEL LENGTH= 8'-0" )
QUIRED \ . PENETRATION TO EXISTING WOOD PLATE, , FRODUCT REVISED
il . CEILING & FLOOR MOUNTING INSTALLATIONS Bl cieplyiag with de Florida
‘ T, NOTE FOR_COMBINATION OF SECTIONS: SCALE : 1/4" = 1" Aeteptance No@ T - 0330+ 0
\ | ALTERNATIVE 9 SECTIONS B Exfizarion Date iZZ;ZL
FLOOR/ WALL/ CEILING MOUNTING SECTIONS CAN BE .
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION. Bylf1e Ao H. AL
WALL MOUNTING INSTALLATIONS B LadegRtct Contro]
FIVRRIDD
SCALE ¢ 1/8" = 17 EL, (24 L ) Y DYILL F.B.C.(High Velocity Hurricane Zone)
0.030" THICK GALVANIZED BERTHA M.C.V.
NOTES: ©2009 TILTECO, INC. STEEL STORM PANEL DRAWN BY:
1. INSTALLATIONS ARE ONLY VALID FOR DESIGN WIND LOADS AND Mox. —I—r— 02,/04/09
PANEL LENGTHS AS PER SCHEDULE ON SHEET 4 OF 9, EXCEPT THAT ST DATE
FOR ALTERNATIVES 2 AND 3 A Max. PANEL LENGTH OF 8'-0" AND A - \\ IL E c o INC. EASTERN METAL SUPPLY' INC'
Max. DESIGN LOAD OF £ 61.0 PSF SHALL BE USED. ‘ ~ T~ TLLIT TESTING & ENGINEERING COMPANY WES#%‘ABLMW.E;SE';@%DiLD§34D7
2 . 635! LW. J6th, St., Ste. 305, VIRGINIA GARDENS, fl. 33166 4 09 _0 7\3
2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN P — ne : (305)871-1530 . Fox : (305)671~1531 DRAWING Neo
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL. o WAL 0006718 e REV. O orscmerioy | o | Rev. Mo DESORIPTION oaTe
. . - _, - -
P.E. SEAL/SIGNATURE/DATE FLORIDA Lic, # 44167 ; OLD 0_5 073 2/4{09 i - - SHEET © OF 9




